
Mérési azonosító
Osztály 
jelölése

1. feladatrész 
pontszáma

2. feladatrész 
pontszáma

3. feladatrész 
pontszáma

A kötelező 
feladatrészek 

alapján 
maximálisan 

A kötelező 
feladatrészek 
alapján elért 

összpontszám

Nyelvi 
szint

Mérési eredmény 
(megfelelt/nem 

felelt meg)

Mérési 
eredmény 
(százalék)

L571-W315 6.a 20 20 20 60 60 A2 Megfelelt 100,0%
H876-P486 6.a 18 17 15 60 50 A2 Megfelelt 83,3%
H299-X294 6.a 13 11 9 60 33 A2 Nem felelt meg 55,0%
B147-T446 6.a 19 20 20 60 59 A2 Megfelelt 98,3%
M685-R423 6.a 18 17 11 60 46 A2 Megfelelt 76,7%
F987-C798 6.a 19 17 19 60 55 A2 Megfelelt 91,7%
S713-K334 6.a 20 17 17 60 54 A2 Megfelelt 90,0%
S635-L983 6.a 16 17 18 60 51 A2 Megfelelt 85,0%
S466-D614 6.a 14 3 0 60 17 A2 Nem felelt meg 28,3%
A595-Q894 6.a 18 19 20 60 57 A2 Megfelelt 95,0%
J162-E959 6.a 13 14 19 60 46 A2 Megfelelt 76,7%
Q433-C688 6.a 19 18 17 60 54 A2 Megfelelt 90,0%
V298-J789 6.a 19 20 15 60 54 A2 Megfelelt 90,0%
R381-W298 6.a 20 20 20 60 60 A2 Megfelelt 100,0%
V427-G919 6.a 19 18 19 60 56 A2 Megfelelt 93,3%
C556-K593 6.a 16 19 13 60 48 A2 Megfelelt 80,0%
M473-W115 6.a 13 16 10 60 39 A2 Megfelelt 65,0%
V669-X694 6.a 17 18 14 60 49 A2 Megfelelt 81,7%
N487-T363 6.a 14 12 11 60 37 A2 Megfelelt 61,7%
U525-T872 6.a 20 16 16 60 52 A2 Megfelelt 86,7%
N842-G784 6.a 19 18 19 60 56 A2 Megfelelt 93,3%
L751-M637 6.a 15 13 15 60 43 A2 Megfelelt 71,7%
C373-K813 6.a 19 20 18 60 57 A2 Megfelelt 95,0%
R737-B283 6.a 15 11 9 60 35 A2 Nem felelt meg 58,3%
J911-N944 6.a 0 0 0 60 0 A2 n.a. n.a
M518-E496 6.a 20 20 20 60 60 A2 Megfelelt 100,0%
E752-A651 6.a 20 20 16 60 56 A2 Megfelelt 93,3%
E992-G360 6.a 18 16 19 60 53 A2 Megfelelt 88,3%
L742-E487 6.a 19 17 18 60 54 A2 Megfelelt 90,0%


